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QUESTIONARIO n. 40

1. L'Ottocento è, a Trieste, un secolo di grande sviluppo in campo economico-sociale e culturale.
Il candidato ne illustri gli aspetti che ritiene più significativi e ipotizzi un evento espositivo che
lo presenti in un'altra città italiana, soffermandosi sulle procedure amministrative necessarie
alla sua realizzazione.

2. During World War II, Germany used the Enigma Machine. It was a cipher machine. It was able
to read secret messages. Alan Turing was an English cryptanalyst. He tried to read the German
secret messages. His team and he learned how the machine worked, therefore Fritz Menzer
developed a new machine that was called SG-41. It was more complicated than Enigma. In
2017, a man found SG-41 in a forest. The machine was underground. Now, it is in a museum in
Munich, Germany. It is not possible to take the machine apart. Experts use modern technology
to look inside.

3.

Quale di questi non è un tipo di carattere di testo?
a. Times New Roman
b. Arial
c. Windows 

Con quale di questi programmi non è possibile fare una video conferenza?
a. Skype
b. Powerpoint
c. Zoom


